SR 264E B 7 S AT A A [BfNe ] 4 THasENe| 45 [#ENo[24 - 1
~= ~
e N=E et S RAT 3 =EF T KGHE
H2TR SRS 4| T K 5 — | H2T6R% 4 |hak & PR | H26RR%E4 iR ER
FoAkshm L | BOR 4 [ELLEEMETOIRER L THERELSLY
OLEST | Fask 45 |JBEEEOM -
FEIE4, S VAT 264 L i
xR Ge-fz) |[ESLEHE 42—
% JLER fE
6 [eeit (o vspige | £ 1EL T BETERTA B DTN 1 oIS ||| e (md/ ) 19000
1=
P ESE2 EATHE | o e o 1 s (o EF b ik () 1
o o IO (%) ! =
fE ] FEAZE 4, o VAT D6 2 1] | 2641 S fh | 27 AF- P 2 1] | 284F I Wi | (i 2% (FRAm e B2 L)
%ﬁ %ng}tgféﬁ (49,000) /& T /K ALEREE /7 (49,000) 100 100 100 100
B
R | TR |t ol St L= ! | | |
ENE
P

NE T

R LE B 7 — 2OV T B AR T2 S04 LL LR L A sk O 28 EFLICLVBERBIR T A Rbn&D Tl oTz, o
T ABRBHERS I OV A K B ZR MERE R D 728D BHRIAY I L E B2 ATV i aR DR F bz M > TVKEETH D,

FENE G ILEN TR
1 BB LEE e X — SR T F% 1 BT FAEFZERE 0.1634
(15K A T3 FHE (%) FHmi g 2% (H26~30,
(2) iM% - = F3 b St sk 71 (& B0 932,900 TH) 12k DR (4
(3) H/KHS Al s fifi 5= 75 (L SE it 3% 7 FHAN— %)
ﬁ H26% %% : 152,479
E
*
3
W
/'/é_—\’
FH=AR 259 TR A AR | 264 I V- JLAR | 260 HERGLAR | 21FEIE T 3VAR BRI
EEEHFHO 44,642 152,479 152,479 183,247 | (2545 & M)
S H 4 20,550 82,487 82,487 86,100/ (D) FHa BEAEL i 5 22 42 (1/2~5.5/10)
I 4 (i) FAGEFZE (F5 4 R90%)
& 6,800 80,400 1ot = iU
T O () A2 G AR i A 58 14 42 (1/2~5.5/10)
— B AR 17,292 69,992 69,992 16,747
AT e o Eﬁf’g‘g@wﬁ“/\ﬂ F42(1/2~5.5/10)
1 F 0k B T S R 1,500 1,500 ) HE AU 321 42 (1/2~5.
WGk 2 T SR 1,000 1,000 (B) FACHE 43 (F2 51542909
REEEOH@ 51,081 152,479 158,918 183,247
SN { | LR EE (H25~H29) DN, LS BKEO R EZMLE T 72,
fE s | E IO R ML, TR, & OH K SMBHH O i Gt 21T -7,
DIV Y
DREE HEF BRI OISR LHERT - (BHE THENTEIRERDI D, B FEA B AN B REE 72D,
o | LRAR T GE R S LA SRS, REMEICIRVMA TVL,
s |
DEZ I FEFa i, TAERE R R LA FHRIAIC I 52 & C, fiix - MR T R a0 2 Ot 4%k
%gi DIEf R ORI A L2 B D
=




